
QUIZ 10    MATH 161    THOMPSON 
 
            
 
 

           D: (-,)  R:(0, ) 
 
 

           D: (0,)  R:( -, ) 

  

         *Inverse of each other 
 
 
 
 

             Logex = lnx 
 

  LogbA=e     be = A     lnA = x      ex =A      
         b is base, e is exponent, A is answer 
 
 
 

 

EXAMPLE: ln(x+4) inverse: ex -4  *left to down 

EXAMPLE: lnx + 4 inverse: ex-4    *up to right 

Horizontal and vertical shifts switch and change the sign    

*D and R switch. 

 

 

 

 

 

y = 5x 

y=ex 

y = logax 

y=lnx 



1)  

 

 

 

 

   Right 3 

  

 

          Up 3 

 

 

 

 

2)  
 
 
 
 
 Check reflection for both FIRST 
 
 
 
 
      Up 9 
 
 
 



3)       reflect y     down 1   reflect x & y  reflect x, up 1 

 

 

 

 

 

 

 

 

 

    no change     reflect x   down 1          reflect y, left 1 

 

4) 

    23 = 8 and 52 = 125 then x = 3 

 

5) 

 

 

 

 

 

6)  



7)  

     only solve inside [ ]  
𝑥

8
− 2 = 0   x = 16 

  

 

8)  

 

 

 

 

           reflect across y, down 4 

 

 

 

              

 

 

   b0 = 1           x-1 = 
𝟏

𝒙
  x1/2 = √𝒙 

9)       

   ½ x = 512       29 = 512  x = -9 

     ½ to 2 is negative exponent      

 

10) 

        x2 = 9  x = 3 



11)  

       Right 2, up 4 

 

 

 

 

 

 

 

12)  

 

 

 

 

 

 

 


